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Given the following parse trees: 
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Name  V Name Conj Name Prep   N       Pro    V    Pro    V   Pro Prep Det N   
Bob met Mary and Tim     for  drinks.   He saw  her  slap him on  the cheek. 
 
a) List each NP considered by the Hobbs algorithm as a referent for “He”, “her” and 
“him” in order of consideration ending with the final referent NP. 
 
He: 
 
her: 
 
him: 
 
b) Which pronoun(s) did the Hobbs algorithm give the wrong referent and what 
information would be needed to correct this?	
  


